MEASUREMENT	SHEET	1						1	
Company Name:		MRMallapurLLP			1	Appro	wed by:	Ram prasad	
Project:		Gulmohar Residency	1			Sign:		1	
Work Description		Northside Compound Wall	-				·		**** **** ***********************
Contractor :	•	N.Dharma Rao	1		1		1		
		P.Sal Kumar	-		1		1		
Prepared By		5/11/2019			1				
Date:		6/11/2019	-		1				
		1	A	В	С	D	E= AxBxCxD	F	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Total
	Northside Compund Wall	PCC 4"	3.50	3.50	0.33	18.00	220.50	Sft	
1		FCC4	5.50	5.50	0.00	20100	1	Sft	220.50
					-		+	1	
	Rod bending, shuttering and Concreting	Rao	3.00	3.00	1.00	18.00	162.00	Cft	S.,
		Kdu	3.00	3.00	1.00	10.00	101.00	Cft	162.00
					1				
		Dedeetala	3.00	1.00	4.50	18.00	243.00	Sft	
		Pedestals	3.00	1.00	4,50	10.00	245.00	Sft	243.00
		+			1				
			3.00	1.00	5.75	18.00	310.50	Sft	
		Columns	5.00	1.00	3.75	10.00	510.50	Sft	310.50
								31	540.50
				4.00	0.75	4.00	621.50	Sft	
		Plinthbeam	226.00	1.00	2.75	1.00	021.50	Sft	621.50
								ગ	021.0U
					+	4.00	420.00	64	
2	8" Solid brickwall upto 2ft height		140.00	1.00	3.00	1.00	420.00	Sft	400.00
	with 2" CC Bed							Sft	420.00
		1		1					
3	Brickwork 4" Hallow with Beds at every 3	3.0"	226.00	1.00	5.25	1.00	1186.50	Sft	
								Sft	1186.50
				.	1		-	-	
					4		+		
			1						
					1				
								1	
		1				1	1		

ESTIMATE	SHEET						
Company Name:		MRMallapurLLP				Approved by:	RAM PRASAD
Project:		Gulmohar Residency				Sign:	
Work Description:		Northside Compound	Ŵall				
Contractor:		Dharma	1				
Prepared By		P.Sai Kumar	1				
Date:		5/11/2019					-
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	Northside Compund Wall	PCC	220.50	Sft	5.00	1102.50	1
		Footings	162.00	Cft	35.00	5670.00	1
		Pedestals	243.00	Sft	35.00	8505.00	
	1	Columns	310.50	Sft	35.00	10867.50	
	1	Plinthbeam	621.50	Sft	35.00	21752.50	
		Brickwall	420.00	sft	10.00	4200.00	
********		Brickwork	1186.50	Sft	10.00	11865.00	
							76754.00
			Adding 20% rate	for small quantam of work		k	76754.00
		Total					
		Inwords:	Seventy Six Thousa	nd seven Hund	red and Fifty F	our Rupees only.	
			-	I			

Allowance for Consumables

N.Dharma rao . Mallapur, Hyderabad.

Date: 05.11.19

In favor of:	MRMallapurLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Northside compund wall work.
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done:civil work done for	
	Compound wall at Northside . Total Amount =	Rs.15,352/-
	76,754/- Work done from date 24.09.19 to date	
	04.11.19	

Amount in words: Rupees Fifteen Thousand Three Hundred Fifty two Only.

Sign: _____

Bill for Equipment Allowance

N.Dharma rao

Mallapur, Hyderabad.

Date: 05.11.19

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Northside compund wall work.
Towards:	Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done:civil work done for Compound wall at Northside . Total Amount = 76,754/- Work done from date 24.09.19 to date 04.11.19.	Rs.30,701/-

Amount in words: .Thirty thousand seven hundred and one Rupees Only.

Sign: _____

Bill for labour charges

N.Dharma rao Mallapur, Hyderabad.

Date: 05.11.19

In favor of:	MRMallapurLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work: Towards:	Northside compund wall work. labour charges

S No.	Description	Amount
1.	Brief description of work done:civil work done for	
	Compound wall at Northside . Total Amount =	Rs.30,701 /-
	76,754/- Work done from date 24.09.19 to date	
	04.11.19.	

Amount in words: .Thirty thousand seven hundred and one Rupees Only.

Sign: _____

Sl. No. – site bills register		- 27			Date - site bills Register			05/11/2019		
Company Name:		MR Mallapur LUP			and the second se			GMR .		
Nam	e of Contractor		N. Dharma Rao							
Natu	re of work	Northside Compound wall								
Work done					09 2019 To Date				1 2019	
Sl. No.	Seal Section 1. The section of the s		Qty. Rate			Units Amo		ount Contract bill no		
1.	Compound a	Jac	-01-	Rs.76	5754	- No's	Rs	167541-	-	
2.	0-1							/		
3.				<i>,</i>	/					
4.	/									
5.										
6.				/			/			
7.			/			/				
8.	/									
9.										
10.										
11.		Total:					Rs.7	Rs.76754		
	required	I YES NO.			GST bill required					
100000000000000000000000000000000000000	surement &	Required			Measurement & estimate sheet:					
and the second second	nate sheet: WO no.		ot required		PO/WO date:		•	□ Not enclosed		
		I								
Rem	arks :									
			·							
App	Approved by Project Manager			Approved by Design Team				Approved by M.D.		
Date	Date: 6/11/19			Date:				Date:		
Sign	Ranpul 1	7 Sign:	Sign:				Sign:			

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.